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Calculation of CBR Value(EMPERICAL METHOD) 

(I) Calculation of CBR value 
• CBR is the penetration test developed by California 
Division of Highways. 
• This test is done for calculating the stability of soil 
subgrade and other flexible pavement materials. 

CBR (%) = (Load sustained by the specimen at 2.5
or 5 mm penetration)/(Load sustained by the standard 
aggregates at the corresponding penetration value) * 100 % 
 The CBR values of 2.5 mm penetration is higher than that of 
5 mm 
 If the CBR values of 5 mm penetration is higher than that of 
2.5 mm, then the test is repeated. 
 Three test is conducted and the average of three is CBR 
values 









IRC Method( Semi Emperical)



Theoretical Methods: 
 It is the methods based on pavement response such as stress or strain due to loads. 





Asphalt Institute Method: 























1. The maximum thickness of expansion joint in rigid pavements is 

a. 0

b. 25 mm

c. 50 mm

d. 100 mm

1. Temperature variation produce heavy temperature stresses in 

a. Flexible pavement

b. Rigid pavement 

c. None

d. All of these

As per I.R.C, the maximum spacing of contraction joints is ……... in reinforced cement concrete 

slab of thickness 20cm.

•4.5m

• 14m

•45m

•60 m



1. As per flexible pavement guideline 2021, The VDF for vehicle type heavy 

two axle vehicle is taken as

a. 6.50

b. 4.75

c. 1.0

d. 0.35

1. Stage construction is not possible in 

a. Flexible pavement

b. Semi-rigid pavement

c. Rigid pavement 

d. None of these

1. The Maximum axle load for design of road 

pavement for Nepal is taken as

a. 10.2 tonnes

b. 8.2 tonnes

c. 8.16 tonnes

d. 82 tonnes

The permissible axle loads in Nepal is 

taken as 10.2tonnes, 19tonnes and 24 

tonnesfor single axles, tandem axles and 

tridem axles respectively. 



1. The permanent deformation along the wheel path in flexible pavement is 

known as

a. Fatigue cracking

b. Rutting 

c. Thermal cracking

d. Frost heave

1. Which of the below is not a critical load position?

a. Interior 

b. Corner

c. Edge

d. Center

2. If there are two wheels on one side of the axle, then it must 

be converted into

1.EWL

2.ESL

3. ESWL
4.EL 

3. The dowel bars are provided _____

1. Longitudinally

2.Laterally

3.Any direction required

4.In base of pavement




































